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Also

you can use the ENGLISH form of the questions to do the project better.
INDIA GDP

* Missing values:

— Find the missing values

— Replace them with mean
e Write a program which adds population growth % as a column
* Central Tendencies:

— Find the central tendencies for each column

— Find out if GDP Growth % is correlated with Population Growth %
* Sort data based on :

— GDP Growth
— GDP Per Capita in rupees

- GDP in (Billion) $
e Plot:

- GDP in (Billion) $ by years (years on x axis)
— GDP Growth % by years (years on x axis)

- Population Growth % in Y-\ +s decade by years (years on x axis)




